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Part - III
AC C OUI.{TAN CY WITH C OMPUTE RI ZED AC C OUNTING

Maximum: 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

General Instructions to Candidates :

o There is a 'Cool off time' of 15 minutes in addition to the u'riting time of

2 hrs.

o You are leither allou'ed to n'r'ite your answers nor to discuss an5'thing

with othels during the 'cool off titne'.

o Use the 'cool off time' to get familiar with questions and to plan your
answers.

o Read the questions carefully before answering.

a AII questions are corrrpulsory and only internal choice is allowed.

o When you select a question, all the sub-questions must be answered from

the same question itself.

o CaLculatioris, figurcs and graphs siiould be shou'n in the ans\\-er sheet itself.

a l\Ialayaiam version of the questions is also provided.

o Give equations wherever necessar)'.

o Electronic devices except nonprogrammable calculators are not allorved

in the Examination Hall.

crfl6egcnett3(A:

O cnllqlov"s cruooJorolcn' d]ooo 15 olcnl8 '&JCA ncon" 5)615o' 96rBcoro1ao3o.

pT cruCIQQ)Oro" Ca-lCBJ6o'.Bsd€O" pc6'rDr0o o€)gJ(EcccDc, o8JSgcuroeoca,l @o@a)

ojlcnlo co.ro cDSorocecnc ol csl S.
o g(6nDo5dBc6 o6V3ru:3crno1cd o3ffu" GeJcGJ5'6Bst @GDoo.i3ogo ojca0tl6o6'lDo.

c 
"otJc 

GejccJ60'Bc0ael3o Boror0o o$eJ6)6mlo.

o 6B03 GrJcGJCnmJa gonDoooe3(6.)cc6 6.)(U)(06.)6Y0ms3(TnDj eei6'r0nDc0? gclJ

GelccJ60Bgo {0t0€{?rr ca-icGJ mruo1d cnlcrd cooffD o(Doo6ronDsJcdo6neco)c6rd.

o & 6rD 6'el' drJS er Je ut , dl [car 66tr cA , tcn c o.o leul, oS; crnl cu I(0nD o

ccr-J H cll rtfl 6m)ocnn 96'rncaJko1 aoorno.

o GroloJcnJoJgg ffunet(dnD" m)oolcaJ66Bc0 oecsJ6o6lno.

o €e-rcGJ6TBri oetqocgru'milet3o mcflalcotl3aerte.

o GloJc[cDcoJed o-aJgccnc&ccunD eccflooJcelgoja',ch osloaco;Jgg EoJ

p a eic 1sc6rD1 d po-l e o 6rD cxJo oJ r01 &s c ooc gl o? g*r G eu c cnl 6el3cll c cr? ol csl$ .
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1. Which one of the following is

INCORRECT?

a) Assets = Liabilities + Capital

b) Liabilities = Assets - Capital

c) Capital = Assets - Liabilities

d) Liabilities = Assets + Capital (1)

2. When the drawee of the bill of

exchange makes the payment

before the maturity date of bell,

it is called

a) dishonour of bill

b) discounting of bill

c) retiring of bill

d) renewal of bill (1)

3. Find the pair which is NOT

matched

a) Operating system - System

Software

b) Keyboard - Mouse

c) Scanner - Output device

d) Microwave transmission -
Satellite link (1)

K-921

350

1. cocogorocot3crnotco/lafl ootaogccororoi

nelro ?

a) orormt-rorlaci = enlccu;<orac0 +

OJOJtDcno

b) 6ilcCIJodb66 = Glocru"G'ila'u} -
CIJeJtr)CDo

c) oJotDcDo = rc.rocru"tojla'ul -
eruco;rorac0

d) 6'nlccrlJo)e6[ = 6@cru"rd1ac0 +

oJeJcDcno (1)

2. 5roJ 6n/lcfl nco-n' ogaim:"c-oterofloel

cicr.uccolcol3os GfOtcD.'o [oJAcoo,

ecetcclulao" o3c0.'f (DocrD otnSJo€

oJ6IDo oo6ol (/oaococrd mcfl atcmojlom

o$crD] docD]mnS.

a) ruflmr:ooocm6 oco-o' 6nJlafl.

b) cujlcru:arerreleiri" aco-o' e'oJlafl

c) dgcorcjleri ocon" 6nIlrtfl

d) olmgrunfl ocori 6'al1afl (1)

3. €e.Jocoyo cgccr.ulocol ao6neoroJo.

a) acgcogleoa" mip;o mclg;o

ccruCo.O'6"oO-tcol6

b) eilcenrcOcu" - otmc"

c) ml."acm6 - eio$.16" ruiloootmi

d) oooclaccoroi tsccrtm:"olngc0

mc6ooer6 eno; ( 1)



4. Fill in the blank with suitable

data type on the basis of hint
given :

a) Name : Text

b) Birth date : .....

Which one of the following is

NOT.a business transaction?

a) Bought motorcar for business

Rs. 1,00,000.

b) Paid employee's salary

Rs. 1,000.

c) Paid son's fees from business

Rs. 2,000.

d) Paid son's fees from his

personal account Rs. 2,000.

o.

(1)

(1)

6. List any two ways in which

quarries may be created in

access. (2)

.7,, The fact that a business is

separate and distinguished from

its owner is best exemplified bY

......:..... concePt.

a) money measurement

b) going concern

c) business entity

d) cost (1)

K-927
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coon mteJcncom3mtol4 n-l3o1 gf aer3a.

a)

b)

c":d : oseigi

scncn oflord : (1)

D. (ocoe oJoCa)Jcrnolcoiafl ennmtlmcp

ps.rcd GoH colooi ogttti?

a) enlmnmg$m3 co-rerrel 6loJ Plareo

oJd o3saol coccSc0 acfr

orcsdBJcrnJ.

b) erocvlacgilac0ao" 1,000 oJd.

uocrupo mafla3crn3.

c) gsocRloocfl oa,ocQ odlmt 2,000 o3n-l

eoXcrulmgplocQ olemonnlafl cnlcrn"

mafla3crn3.

d) gsocruoocfl oaocfl .dmi 2,000 o3o-r

@roocg3os oSaru'Jl@(o Gloaotorr4ot
I

cnlcrn3o mnfla3crn3. (1)

coaicrucrul afl agol m:" 1o1ccor6

oejgCcn]l8g og]oconlerSo o5'r'€" otclaca

o€)eJcoJal . (2)

elo3 enJlmicDcru" rooru'fl ocr! gsocmncnlcfl

cnlcrn3o cotcjlj cnletcnlaflaoJcm3 o-€lm

rwo cro cor ronvjl cn sll cnro c m o c aD rgn ao t enel eoe-

(D(?')lOC6rn"

a) oernl ooog6erocfr oacen0ocru"l6.

b) e cn c coil o?rB"

eracer6ocrunJB.

aen0ccruer6

c) ennmlmcg n9otd6l oacen0ercrunl-6.

d) caccru"6 oacen?ocrunr6. (1)

6.

1.
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8. Arun sold goods on credit for

Rs. 1,000 to Amai.

a) Who is the debtor in this

transaction?

b) Write journal entrY of t'his

transaction.

Rajanesh is a manager with great

expertise in lrlanagement and

Ieading his firm very well. But

his expertise does not find a

place in the accounting records

of the finn.

a) Is it genuine according to the

rules of accounting?

b) State your answer with the

reason.

10. Journal and ledger are two

important books maintained in

accounting.

a) State any two differences

' between these books.

b) Purchase office furniture for

Rs. 500 bY cheque. The

account to be debited is ..........

(1)

(1)

9.

(1)

(z',)

(2)

(1)

K-921
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roroo3errt 1,000 oJd ofl el co;Jgg

gafl or cmorrr c0 roro o eJl crf ' &s' (mD'l.ri oJl g.

a) pr psolcslafl oor:eu"66

(goroc6e6gc0) ooocern'? (1)

b) pr psolcslercfr csdernrui n6attsl

o$eecoJe. (1)

9. ogecn.,g' 6ioJ cruoccllcnfo'roloet to-l(/)(tfrG

cDCCa) OCGcngr0C6'TD". r0OGQoOo (6lO€

enJlmimg$om gcrn(D oJlsco.r<orrjlcejdo"

cnaJlgJ oacsrrdlolaoJcrns. ogcmcafl o@

cruoccLl mcororl orcft ooaeicsnel ag:" GoaJ

egl,o? anocgooru'mfloQ oocn"-r3ern;onc0

crooloHsJolo3crrflg.

a) romeeilcerrelamlocfl mlqDo6dBgSos

roroslcmocmrrrolnfl, Ptoi

cnJcoJoccsmc? (1)

b) &c(06'IDo crfdrDocdoJe. (2)

10. aa6emet3o oetol:eo3o ooaertendlanJloa

oene" toltr)ccnofis oilJaoeegc6rn'.

a) pol comler3gg og3ercnalaSo o5TB"

o{roJcm6rtBc0 ogv3ro3a' (2)

b) 500 oJolcol3os acndlad on6ern146

cUC6TBJcmJ 
"61ro," 

Godoc5TY3c6rn"

oolea-flg odgJe. (1)



Answer either question 11 or 12.

1l-. In every organization, a large
t number of small PaYments of

repetitive nature are there. To

record these as a seParate cash

book is maintained, is called

petty cashbook.

a) Name the Person who

. 
prepare this book.

b) What is imPrest?

c) Prepare a PettY cashbook

from the following

transactions of Nisha

Associates for the month

of January 2000,under

analytical firm given that

imprest amount is

Rs. 500.

(1)

(1)

(4)

Date Details of
transactions

Amount
(Rs.)

Jan. 5

..".. 10

..".. 12

..".. 15

..".. 17

..".. 19

..".. 25

.."..30

Postage

Refreshments

Bus fare

Courier charges

Taxi fare

Speed post charges

Refreshments

Postage

15

10

20

10

20

10

25

20

K-927
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\1, LZ colc€JsoBgilot eicrniocfr ocltoo

p6'nDoo o€)eJrole.

11. nORc cruncdcn6dBdetJo, raIOc!0C0r6)143

cuoefl"D O-ololco-r mlcmlorola

pso-.ics3ac6 g6l.cCcucoJ6Ir3"' pru

Goot oCsJcdnD3crntolmccoi talGtoJeo

CIgcoceoJcm acog' 6niJ6oc6rn" onJfil

aOng" 6OJJAO".

a) pr 6ilJeo" toqcoc€oJcmo'i

coocem? (1)

b) ogamceni 'po(.oJcrD"fie ? (1)

c) mlog rsrdccrucmtacor6 cru" 2000

gmcuol ocmlrorollcfl msromlcol

psoJcsJegJos cr-icuoore6

go-r c co,r ccnl gi' nom a B1*d (01 (6.)1 40, ftfl

o.tJ8l &Cos" 6ilJeo" cogcocd'oJe -

potorei ro3e 500 o3o-lcorcorni. (4)

ruflcoirujl psoJcsJegJos oj ol oo'Bc6 (DJ6

ecn3. 5

..".. 10

..".. L2

..".. 15

..".. 17

..".. 19

..".. 25

..".. 30

cotcml'c6e

o11cnnv"oocff

enrmi eJeil

oaccrlco.r6 o.tcdset

sca"mIl aJPJI

c$ilrui corcpi eJetl

cjl1".oos"oocfr

colcmc-c6ed

15

10

20

10

20

10

25

20



OR

12. For quite efficient and accurate

recording of business

transaction, j ournal is

subdivided into Special journals.

a) List any two examples for

special journals . Q)

b) Prepare a cashbook from the

following transactions of

grace enterprises for the

month of December. 2010. @)

Date Details of
transactions

Amount
(Rs.)

Dec.1

8fl

15

18

ll

tl

20

25

fl

tl

il 28

29il

Cash in hand

Cash at bank

Purchased goods

for cash

Sold goods for cash

Cash deposited into
bank

Paid rent

Withdraw cash for
personal use

Purchased goods and
payment made by
cheque

Received commission

15,000

10,000

5,000

7,500

4,000

500

250

1,000

200

K.92L
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runogar'lnf,

Cnfimtm(ft psoicsie8jos €:o\cd[ocoJo

crr3r?e6g ocoijo3gg. c oor ogs3om eJlmccofl

cg6emelom oflsrre3o torctoJa

caOema3agcco/l ruflol4fl gsne".

a) lorcroJe cgOerner3adao" o6l're"

gccooo6rneue(n mafla3a. (2)

b) clcooimr" ogcflOererlo-icrulm:locfl

ru-rl mloeru 0 occruroml o eJ psc'r cs3ad

cocoe carcrnlolaoJcmJ. pril"

go-rcco)ccol ?J] 6l(03 &cos" 6aj36o"

6.)gcocdoJe. (4)

rolaorrnfl pscLJ csJegjos crJl cr-roongca (u.)je

otilruo. 1

ll 8

15tl

18il

"... 20

"... 25

28

29

tl

il

acc'si" gjc0 oocc0ru.l-

.ocng" rare6 erucmJ

oJ6I"0o CACSJG'fiD"

m)c(rjco6ui3 d tu ceoela)c6)'

oreroromil m' mlcocnoB(fi

nJlB*i

erucnlcfi otslTo

rnlco'so-n4o"

orcs& oacs3orooi

o{arajlo:occeQ)

r6lQcrlcq6'r0lcrf oJ6mo o-Ilat

o.teliqrn

o-oraei go-rco;ccnigi

cructucDdon c0 o-lcorJlcorrri

aoo'lngc6 al$o;ctf

15,000

10,000

5,000

7,500

4,000

500

250

1,000

200

6



13. Bank reconciliation statement rs

prepared. to reconcile the cash

book and pass book balances on

a certain date.

a) This statement is PrePared

by

b) Write any - one cause for

difference in Passbook and

Cashbook.

c) Cashbook of Tinu shows a

bank balance of Rs. 15,000'

On comParing the cash book

and pass book the following

discrepancies were found'

i) Cheque issued to DeePa

but not Yet Presented for

payment of Rs. 1,000'

ii) Bank interest credited bY

the bank Rs. 400.

iii) DivYa, a customer

directlY dePosited Rs'

4,000 to firm's bank

account.

entered in cash book'

Prepare bank reconciliation

statement.

(1)

(1)

K.92L
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6JoJ mlrrpJlro o"lcolcolcoid 6coe"

eot3aeilel3o orcc[B eru3aolelJoJgg

eo:cacrtml3agos roocfooo ololooolaei3

crn <o1 m c ern" enr c ei cil aerrl mi ej.| c col osi co

e 96"o ocfr roqcocoel3crnof.

a) pt cp16"oocfi togcocaoecmoi

c@6rn;. (1)

cr-JCm-6'ilJdoJo acos 6ilJaoJo cooolafl

o{coJccruoJ6llec6ccn39g og3ocoal u3o

ooJ eco6fDo orocrr)J&. (1)

dm3oilocf, acng" 6ilJd6'rJo en rcelc0mi

1 5, 000 o3o-tcorccofl 6c6rDJcrD3. "lc$
6'oJldoJo acog" eru3aer3occo/l

rocorooJodsJcnD3cm-rccO rocoe

oJOa)ecrn

acern3acol3eneccoll.

oJJroJccruamcd

i) o"latcoiao" 1,000 o3oJcolSos

o.oldo' mnflal o€;Crncol tooolCI

pcdrJCUOOCOlo O9.J€5)' enrcs,ld

mroogldl5lH.

ii) eruceJ cnlcasc'iccmjloQ crlpJlso

ratodoc6relafl [aQD1B ootol"ro3

400 o3ol.

iii) r:lcu; ogcrn aP;o0 cmo13"

4,000 o3d cruocolcnomlocf,

enrcpi Godot6relcd

cn1cauoil43.

iv) enrculocrfl orcde3ari acos"

enr3aeild coorogs3omiland& -

100 o3.'t.

onrcpJ olaeic0cruleflccologc0

cg6:oocfr CIgcocdo3e' (4)

b)

c)



14. Trial balance is a statement
prepared to check the
arithmetical accuracy of
business.

a) Name any two types of eruors
which cannot be disclosed
through these statement.

b) Rectify the following errors.

i) Office furniture
purchased for Rs. b,000
was posted to purchase
account.

ii) Cash sales Rs. 2,000 was
posted as Rs. 200.

iii) Goods withdrawn by the
proprietor for personal
use Rs. 1,000 was not
recorded in the books. (3)

15. Kannan and Sons acquired a
machine for Rs. 1,g0,000 on
10th October, Z0L2 and spend
Rs. 20,000 for its installation.
The firm write_off depreciation
at the rate of L0% p.a. on original
cost every year.

Draw up machinery account for
thg first B years given that the
books of accounts closes on
March 81", every year. (g)

K-92L
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L4. 6r0J err.rlcrulmcploet g)soJcs3agloa

cnemlcoo:oCIcaD 6J@Jco otolccocol
eo3crnrorlmcco;l cotgcocoo3crn

cp36"oocfl cem. lscoroi erucet crtrcru..

a) p.u eg6"oo@lejJos aoeneorocc6

mcculaoccn) oGrEJ tu.roomia3gg

oro63aci gocooolao3a.

b) (Dcoeo-JoaJJffn oo63ac0
ru'r1o3rum3a.

i) 5,000 roJ"'l6o- cr:ceoJlcol ocoo"tmi

(2)

on6eml g 0 o-r6c gao"cru"

rooaenendleJc6m-

cooJogs3ronnlcorro".

ii) oerecaroo oJ.,.jcolJos 6cos_
ocn-rco/lnfl ml. 2 00 roJoJco,lco,rc6rn

GooJogsJomrlcorror".

iii) psocnroa0 o.r;a-co1o_roocc'r

roocu ca;rumlmco/l .r/l cf, cu e/lg
roroco/loo oJd GooJogsJoncc0

oftgcorcco/I. (g)

15. 6En.A rsroc6n" cruGr6crLf o€)cm crmcoJmo

1,80,000 oJ..J o3saeil GoJ ooos/la?

olc6rBecrnJ. 2AL2 o:a"ascen:6 1_co
rolorrol oJc6TBJffn pr ooodlmol
cruocc,_fl aei3cmrolmco.rl 20, 000 oJoJ

oe_JeJoicaoJcrnJ. pc Ct"uoco_JCDo I0%
cnlooe.flnfl co.rnc6cu:o ofl etco.r3os eocfl
rui t rfl mf ccoloscc6 acenlloet3crn3oru a1afl
GfocJooro 3 oJ6og oord) ooos/lmol
Gro€o"c G.rte- rD g c ocd.o36. roroeeiterrdl ourJ

cuOoso rsrocumccDlaei3rrn<ui oc6gi B 1

cnc6rn". 
(B)

8



16. On 1't JanuarY , 2Ol5 ArYa sold

goods to Adwaith for Rs. 10,000

and drew a bili of exchange for

3 months. Adwaith accePted the

bitl.

In 7'h February' 20L5 ArYa

discounted the bill with her bank

for Rs. 9,800. But on the date of

maturity of the bill, Adwaith was

unable to make the PaYment'

Pass the journal entries in the

books of ArYa.

L7 . Find the 'sale' of Mr. Binesh from

the following information

provided bY him for the Year

ending 31't March 2013'

(4)

(3)

Particulars Rs.

Closing stock

Purchases

Wages

Carriage outwards

Return outwards

Opening stock

Gross profit

5,000 
I

l
12,500 

I

1,000 
|

I

500 
I

100

2,500

10,000

K-927 Turn Over
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2}1il am3olol 1 cn' G'ooJ 10,000

oJoJeJJCIs gnilo-L crnomco roooonJmrl crf

ascwojlcri o-fl afl ao3cm3- o'roofl cnccoil o3crn-

occruorcnD acetccuufloilo-? 6loJ eolaf,

oc"n' o6;A"ml-co-16ral" GLd)C od(gecrnJ'

roro er oeSroi raro roi rooocn"l ao1 eoJeQ)Jo

odgJcrn3.

oonL6'ilJcu d 7, 2015 m" crgloJ pll arflcfl

ro,ocfl eotcslafi mcfl a3acol3o oulmiamne"

oo-tco.r"ro" 9, 800 oJd m;IoolaerJecoJo

oeJqJcmJ. oJcalg -ils"Q acelcolut

r:lolcn:o ronoora;oflm", mn$oQ ol5'rDo

mcflacc6 a..r1cor3cm1g. rcpo;cor3ers

eru3aerlcfr Pro3occo.fl erucrioet$S

csOernnfl ogcrtlslacO coologsJont)ie (4)

L7 . cocoe rocrnlrolao3cm ofl oloeur:$cfl cnlcrn"

o'c62i 31, 2013 cu6"gcoluilafl Glocucruc

cnlao3crn olpl6. enJlcnln{ieicf, oJlcf,olm

o€)t(6)oa)nn'eosrBGloJe- (3)

ojlcroecocoouecA oJd

f*l
cgccnilora" Gmlceo" I

o-r64col"mi

co:gcrd

agolccore at3-colodtru" 
]

cjl cgerrt acgi:cl o.dcni

ocgornleon" cmlcdo"

cicnccrd cic'lc"rfl6

5,000

12,500

1,000

I 
uoo

I roo
I

| ',uoo

| ,o,ooo

I



18. Computerized accounting has

many advantages over manual

accounting.

a) List any two advantages of

computerized accounting. (2)

b) Write any one condition that

must fulfill by an accounting

350

18. ocm-1d oroaorerreleunlom roocotadl4i

emlssoo ocru"a!" rs'CIaor 6ndl 66ri crt' o6Joo

cococor3ene".

a) 6ruU3ooom)"or." raloaorenelmJloQ

o6lre" coeoac0 ogtreJto36. (2)

b) rooaeioerrelam" olcgcOg cn16erum"u-r

oc@Jo mlocotc6ene o63erroa1et3o

oo3 cnleuffr!(d) o€)eJ(DJe. (1)

c) c-fla io-tcor;a scmiaer3acO o_e_rg4crn

<olmccoJl cogcocdoog gl ggg cor3cruO

ocolco;crflerre" Gto-lc[cncoJ6gc6m" ....... ( I )

19. cocog <ocmlolae'r3crn csenJlcd

elolecncurl€.ole.

report.

c) The user oriented

(1)

programme designed and

developed for performing

certain specific tasks are

called as (1)

19. Observe the following table.

Entity -+

Attribute ->

Record

Give a suitable entity name. (1)

Write the relevant attributes

relating to the entity. (1)

^+ltl ty'\"
f1''

colda)

b)

a)

b)

crocnJcaJcgJoca0)

mcfla3a?

.6; €181 cor3o c col

GromJGoicaJoca)

o€)e3@36,.

"O€1Rl
(1)

earm"u:og 3

ctgl [sl6,nJJJScru"

(1)

10K-927



20. Consider the following

information from the books of

Mr. Sidique.

a) Profit for the Year Rs. 60,000

b) Additional caPital introduced

by him Rs. 50,000

c) Drawings bY him this Year

Rs. 30,000

d) Capital at the end of the

year Rs. 2,00,000

Find the capital contributed bY

hirn at the beginning of the year' (3)

2L. The fcllowing is the trial balance

of Ammu Associates for the Year

end.ing 31't December, 2014 and

other information relating are

given to You. Find the working

result of business and also show

the financial Position of them for

the vear.
(8)
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Trial Balance of Ammu Associates on 3 r-lz-20r4
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a)

b)

c)

d)

Closing stock is valued at Rs. 2b,000.

Salary of an employee is not paid Rs. b00.

Further bad debt incurred Rs. 200.

Provision for bad debt is created at byo on debtors.

Particulars Debit amount Credit amount

Cash in hand

Purchases

Sales

Returns outwards

Bad debts

Carriage outwards

Wages

Furniture

Capital

Provision for bad debts

Discount

Salaries

Commission

Advertising

Debtors

Creditors

10,000

75,000

500

600

6,500

50,000

500

5,000

1,300

50,000

1,00,000

1,000

73,000

100

5,500

19,900

Total

Additional information :
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